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Seat No.: ________                                                      Enrolment No.______________
  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.- VI

th
 SEMESTER–EXAMINATION – MAY/JUNE- 2012 

Subject code: 365401            Date: 26/05/2012        

Subject Name: Taxation Law & Practice - II 

Time: 10:30 am – 01:00 pm        Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic 

 

Q.1 Given below is the Receipt and payments a/c of Dr. Desai for the year ended       (14) 

 31
st
 March 2010 : 

Receipt Rs. Payments Rs. 

To Balance Bldg.  

To Visit Fees  

To Consultation Fees  

To Sale of Medicine  

To Operation Theatre Rent  

To Dividend  

To Interest on Treasury Saving 

Certificate  

To Sale of Surgical equipments 

72000 

56000 

132000 

23000 

12000 

3000 

2000 

 

8000 

By Clinic Rent  

By Staff Salaries  

By Rent of consulting room & 

Taxes  

By Electricity  

By Purchase of Medical Books 

& Magazines  

By Purchase of Surgical 

equipments (1.7.2009) 

By Motor Car expenses 

By Audit Fee  

By Diwali Exps. 

By Purchase of Medicine  

By Membership Fee  

By Balance C/d. 

72000 

90000 

6000 

 

3000 

5000 

 

9000 

 

29000 

2000 

2500 

21000 

600 

67900 

 308000  308000 

* Additional Information :- 

(1) Rs.11000 given by a patient in appreciation of best medical treatment, has not 

been recorded in the books of account.  

(2) 50% of Motor Car expenses is personal.  
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(3) As per I. T. Act. depreciation of Rs.6000 is allowable on Motorcar. 50% use of 

Motor Car is for Business purpose.  

(4) Opening stock and closing stock of medicine were valued at Rs.16000 and 

Rs.8000 respectively.  

(5) Depreciation at 40% rate is allowable on surgical equipments. The opening 

written down value was Rs.24000.  

  Calculate Total Taxable Business Income of Dr. Desai for the A.Y. 

2010-11.  

Theory :- 

 Mention the expenses expressly allowed and expressly disallowed under the 

head profit and gains of business or profession.  

Q.2 Kumari Sonal has furnished the following particulars of her investments for the      (14) 

 year ending 31st March, 2010 :-  

(1) Rs.10000, 7% Port Trust Bonds.  

(2) Rs.270000, 10% Redeemable Debentures of H.D.F.C. Ltd. [ T.D.S. at 10.30% 

(listed) ]. 

(3) Rs.45000, 10% Government Loan.  

(4) Rs.24000, 15% Cumulative Preference Shares of Century Ltd.  

(5) Rs.300000, 10% Tax - free Debentures of Ambuja Ltd. 

 [Unlisted : T.D.S. at 20.60%].  

  On 1-6-2009 she sold her Port Trust Bonds for Rs.15000 and purchased 

Rs.40000, 12 % Tax - free Debentures of Rajmoti Ltd. for Rs.42000 by cash 

[T.D.S. 20.60%], on 1-8-2009 she sold 10% Government Loan at par.  

 On investments interest becomes due every year on 1
st
 January and 1

st
 July.  

 Preference dividend was received on 31-12-2009.  

 She has paid Rs.528 as commission to her bank for collection of interest on 

various investments.  

  Compute her taxable income under the head "Income from other 

sources" for A.Y. 2010-11."  
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Q.3 Compute the capital gains chargeable to tax of Shree Janakkumar from the       (14) 

 following details for the A.Y. 2010-11 [Cost inflation index of 2009-10 is 632].  

Sr. 

No. 

Date of 

Purchase 

Selling 

Price Rs. 

Transfer 

Charges 

Rs. 

Cost Rs. Particulars of Assets  Index of 

year of 

purchase  

1 1-1-68 2149000 11000 150000 Only self occupied house.  100 

2 1-6-05 325920 - 159040 Share of Reliance Ltd.  497 

3 1-3-94 131000 4000 73200 Shares of Arvind Ltd.  244 

4 1-9-85 1969100 11000 399000 Jewellery  133 

5 1-1-09 - - 202000 Residential House for self occupation 

(new)  

- 

  He had sold old self - occupied house on 15-3-2010. The cost inflation index of 

Financial year 2009-10 is 632.  

  On 1-4-81 the fair market values of self - occupied house and jewellery were 

Rs.300000 and Rs.180000 respectively. Shares of both the companies (Sold on 1-11-

09) were subject to securities transaction tax (STT).  

 Theory :- 

  Explain the meaning of capital Gain and Discuss the types of capital Gain.  

Q.4 (1) Describe Gujarat Value Added Tax Act 2003.          (07) 

 (2) What do you mean by Tax Credit ? In which condition offered Tax credit      (07) 

  to Traders ?  

Q.5 (A) Discuss "Self Off and Carry forward of losses".          (07) 

 (B) Discuss Penalties and Punishment under I. T. Act.         (07) 

OR 

 (B) What do you mean by Grossing up, stat Grossing up rules for income of       (07) 

  interest ? 

 

 

 

 

 

 



Page 4 of 6 

Röm>= Mc?m=kxXcKdzy=qcm@>è|@è>|=dcy=wje=Rzwc=vqc=gnc?dzy=scgpîecgp=_cqzy=diox== ==ë>AÑ=

= aze^=hxm==

scgpscgpscgpscgp==== úcmúcmúcmúcm==== ecgpecgpecgpecgp==== úcmúcmúcmúcm====

^cpi=scrL=Icàfc==

ägäÜU=li==

pÖXYUxud=li==

kgcdzy=gxocS=

sjRwxud=ävfxUwdc=bcMcdi=scgp=

äMägMÖM=

UZxÜwi=XxägyìX=XäU?m=dzy=àfce==

gcJpcRdcy=Xctdjdzy=gxocS=

Gw|||=

RC|||=

>@w|||=

w@|||=

>w|||=

@|||=

w|||=

E|||=

kgc_cdcdzy=bcMzy==

WUcl=Rrcw=

pÖXäYUyrúadzy=bcMzy=gxwj==

gieLi=_o?=

kcpqwi=RzWqpj=axrxäÜdjdi=_wiki=

gcJpcRdcy=Xctdjdi=_wiki=

ë>èGèw||FÑ=

ajUw=_o?==

sjäMU=li==

äkgcLi=_o?==

kgcdi=_wiki==

axäMpI=sxXjmdi=XÉf=li==

^cmscm=IK=rfc=

Gw|||=

F||||=

C|||=

@|||=

R|||=

F|||=

=

wF|||=

w|||=

wR||=

w>|||=

C||=

CGF||=

= @|E|||= = @|E|||=

ë>Ñ= qxadx= úcm>>|||= sxp= kki?sx= éíqa= kcpqwi= Xcwgcwdc= pkwúRx= scRxIc= ex=

ojRMx=djytxI=dvim==

ëwÑ= ajUwpcwdj=>èw=_o?=Rjqcdc=syrq=`xqz=acUx=hxm==

ë@Ñ= scgpgxwc=_cqcsx=ajUwpcw=Rw=>èw=tytcpif=éRfjr=syrx=aLgcRcH=PXcwj=

úcmC|||=acÖf=rSxI=hxm==

ëAÑ= kgcdj=uúdj=WUjp=úcm>C|||=sdx=sc_wdj=WUjp=úcmE|||=hxm==

ëRÑ= gcJpcRdcy= Xctdj= Rw= aLgcRcH= PXcwcdj= kw= A|]= hxm= PUqi= eqi= ^cpidi=

Rïtäqsx=gcJpcRdcy=Xctdjdi=gnc?di=uúdi=^cpi=úcmwA|||=`qim==

= = scpcwSi= gnc?= w|>|î>>= acUx= òi= kxXcKdi= tytcdi= pwRcH=scgpdi=

rSqwi=pwjm==

viswi=çviswi=çviswi=çviswi=ç=



Page 5 of 6 

= tytc=àfgXcfdj=dlj=px=Icb=uinc?p=`xVLdi=scgpacyvi=aewx=aLi=upx=qxgc=sdx=

aewx=d=aLi=upx=qxgc=_oc?sj=eScgjm==

Römw= pzacwi=XjdIx=qcm@>=ai=aco?=w|>|=dcy=wje=Rõwc=vqc=pcf?=acUx=qxdi=wjpcSjdi== ==ë>AÑ=

= ägrqj=diox=RöacSx=scRi=hxm==

ë>Ñ= úcm>||||=dcy=G]=dcy=RjU?=UZWU=^jÖMÜm==

ëwÑ= úcmwG||||= dcy= >|]= dcy= sxomMimsxlmXim= äIm= dcy= wiäMax^I= äM^xyow=

ëdjytcfxI=ç=UimMimsxXm=dj=kw=>|m@|]Ñ==

ë@Ñ= úcmAR|||=di=>|]=di=Xwpcwi=Ijdm==

ëAÑ= úcmwA|||=di=>R]=di=XxÖozwi=äIm=dcy=pfzmRöxlmuxw==

ëRÑ= úcm@|||||= dcy= >|]=dcy= sy^zec= äIm= dcy= pwazpq= äM^xyow= ëä^d= djytcfxI= ç=

UimMimsxXmdj=kw=w|mC|]Ñ==

= = qcm|>è|Cèw||F= dcy= wje= G]= dcy= RjU?= UZWU= ^jÖMÜ= úcm>R|||= acy=

gxoidx= wceajqi= äIm= dc= wjpMxvi= pwazpq= úcmA||||= dcy= >w]= dcy= äM^xyoX?=

úcmAw|||=acy=_wiïfc=`qcm=ëUimMimsxXm=w|mC|]Ñ==

= = qcm|>è|Eèw||F=dcy=wje=>|=]=di=Xwpcwi=Ijd=kcu?ädp=äpyaqx=gxoi=

kiti=`qim==

= = wjpcSj= Rw= kwxp= gnc?acy= >= Ii= ezIcK= sdx= >= Ii= ecÖfzscwidcy= wje=

àfcedi=oõpgSi=vcf=hxm=RöxlwÖX=äMägMÖM=qcm@>è>wèw||F=dcy=wje=aLxI=hxm==

= = qxadcy= ägägt= wjpcSj= Rw= àfce= éPwcgi= scRgc= ^kI= ^xypx= úcmRwE=

päaud=gXõI=pfz?y=`qzym=

= = pzacwi=XjdIdi=scmgm=w|>|î>>=dc=acUx=scgpdc= ÅsÖf=Xctdjdi=

scgpÅ=dcy=uinc?p=`xVLdi=pwRcH=scgpdi=rSqwi=pwjm==



Page 6 of 6 

Röm@= diox=scRxIi=acä`qi=Rwvi=òi=edppzacwdc=scmgm=w|>|îw|>>=dcy=pwRcH= ==ë>AÑ=

= aõMidlcdi=rSqwi=pwjm=ëdcScypif=gnc?=w||Fîw|>|=dj=Xõop=scyp=C@w=hxmÑ=

dym= _wik=

qcwi_=

gxocS=

äpyaq=úcm=

lxw^kIidcy=

_oc?=úcm=

_wik=äpyaq=

úcm=

äaIpq=syrx=acä`qi= Xy ŷätq=
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